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(1) cos30° x tan 30° + sin 60 ° X tan 30 °
(2) sin 90 ° X cos 60 ° — cos 90 ° x tan 60 °
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0
iy
S

v V. Vv Vv v vyvyy
0x
i

0
iy
®

02
o
5
o2 g v T
|
S

~&B

(1) cos30° x tan 30° + sin 60 ° x tan 30 °
V3 1 V31

= ) X7§+7X7§
11
—54‘5:1
(2) sin 90 ° x cos 60 ° — cos 90 ° X tan 60 °
1
2
(3) V3sin30° - V2tan45°

1
:\/§x§—\/§x1:

(4) cos 45 + sin 90 ° X tan 30

1
=1x5-0x V3 =

%

- V2

o N




i

vV Vv
0
iy

3v2

~&B \

AP+BP 7} H27l HE A PE 4B
o x Zof tiste] gl A B/(2, -1
& F& ), AB 9} x 30 wHo|ng
AP+BP 9] H%:gh2 AB’ 9] Zojert,
L AR = 2+ 1)2+(-1-2)2 =

~—

yl\

%

vol- - Nt

VB =33

Sy



3.

Z0]7} 6v3 & ml, ABFH ©] £ 2 5} 5
ofzt, .

the 1F 3 2o Ao A tzhA 9 A D

(AL - JH

[ 2
> HE 64+6V2+6V3

tiZhA o] Zol7t 63 o] B2 F-8A| 2] g ¥ o] ol ¢ ot
wtebA] BF = 6, FH = 6V2 0|22
ABFH 9] £39] Zo]& 6 + 62 + 6 V3 o]t}
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